R » - SF 4 F 2 H 10 HERS
EHBERFM—E  6F0 2 pEFmmmn [FFE] GES T L] BEain
— ‘ 11700 T IL—Th— L B e B BB e TH =Ef K T M adE
#HH —ig 3 i i T Tl T BT s
s %zt:bfﬁ% 9 |BEERIADITE BILES [BHESE Y IL—Th— AEE"E%%E’J%BEHEK&J Eljl%ﬁﬁﬁ;téﬁ%@
o PEEomn| 20 |FEEE R D HEE B | 103 [T —Th— LB R B =D ke E | 2 1 S A

™ ko ER = ES [] Ems
() BHEEEOHE
(O FHEFXOHN O BB ELDONE RMEE DINCT S ohs B /aDN, T R ER C & bED) etk 3 b 1T BUN ail 372\

] B P EEEFY I —THR—LZFICODNT. RELEEEN TOND LS. HHERAEITI.

O iﬁk_ﬁf;ﬁ%N EEEIIN—T R —LEEZFRIIEEEORFNABEZERL. TOEHILZRET S0, HREBICHLTREMREZITS,

M BRMFEE ¢
0 30 R i A A

TR __ AR~

B AEEET
QTS S EBAAR DR - 955 D IR @B SB35 ROl OFBFHEICHTDERNODOE WL
FR20%4H 1 B LB HBEE~DBITIOL TR, BOSRIL- Baa |BI<AL
(BARRR R X TREE) DEELRUSHRIL-EI-LBHEBTORESICE

Y, =—XD BB BEEIND,
(2)aRh-fEMIRORI
[y D9 [ 30 | LA | 20 | A%
O FEEOFMQEEDORE) BN TH GRE) | GRE) | GRR) | GRE) | (FF)
(TS 1752 BB l—Ih—LEe B S %1.’@5)]% 1| 18,547 | 19,107 | 18,172 | 17,522 [ 20,310
2 fe 8 2 #EHE T
T
W
E i
=%=/[" TH
@ FrEHIEDOPER QFE DIRFL) % Hraar (A T | 18,547 | 19,107 | 18,172 | 17,522 [ 20,310
1EEXEE Bl |1 EEXHE 1
2EEHRX IS 8760 [BEEYIL— - LR 2 BB XME | TH] 9168 92071 90391 8760 | 10,154
PZ0H AT E o S
5. —HEER M| 9,379 | 9,810 | 9,133 8,762 ] 10,156
HITAERE S >
gy |7V TR LAREONRERORD O EEEEe I i PN 5N PN e 1 S N
(B) BHEHEEDOFE: BHERIE T DIGIE TR TR [T
[ 20FEIE | S0FEE | TATE | 2 | 3A %
O ERIED )| ® E By | () | ) | ) | =) | Ghm)
4 JE FEHE (4RI AT - 1= R TEE))
F- T N—Th—LEEEEEEIHL. EEREOMPZEL 7| ERMFEEEH X S8 18 18 16 17 20
Ll f=,
& [ ——————
1| REBMBRREH A 76 74 73 72 69
£ 0 (] (e 7S Ly L A R N 294 [ B04RRE | IARE | 25 | 35K

@)d—g% ‘._‘()d—%ﬁ k@i?éﬁ*{ki&\—iﬂé@ﬁ) #@Ek%?ﬁ@% E"{i (%ﬁﬁ) (%ﬁ:ﬁ) (%ffﬁ) (%;ﬁﬁ) (§+@‘)

MeEs

. T|TIW—Th—LABFEER A 0 0 0 0 0
H % . i " 7N S
o[BI EBAERET B,

S

E | BTEERILHELRMBABOR o | 957| 1000| o13| ss4] 1000

= =
(4) BB EEELETMORER (5) FRBIBE DB
(DR SR 2 FEE ST s @SIXFEJ TR S AT
......... R L — AN ST w7 1000

.......... iy | ot | mea AN ST A S 3 4 0.0
......... b | IEbD | Eh o 1/3 | 1/3 | 1/3 '
xR = K
3 I Al lO) 2 40.0
ol il @ e

o ) A O6) 1 20.0

= IPEN %% @ (4)

e 0 * ¢ ¢ ¢ *—+ 0.0
©) H29 H30 R1 R2 R3ETE
(6) HHHE I B3 A

[OFCEZZINT L] 5T V1 gz L1 A aiEz L] ¢ MES AL

[= 2]

(51 « A T2 it « SEhtE A

DG E . ZOBH)

@ FHDIRIL e [t | A [Bdis=meEzm L[] L M gEvy [ K F Pe| 28FEFE [ 297EFE | S0FEEE [ 1A% | 24
o R s | o247 [T A =i L] w1 L RRE WMUACE k|| 294EEE | S04EEE | TR | 2 | 3t
i [jf‘/]\lEA g 7 0 0 0 of 0
| (5 T PHEEOR N — L BRL e TS B A SRR <55 -
= A A22 33 A87 A29 11.6

(@) 4 B T IR e 1 N2 A O #K BUIRHERF 00 il

(LT H T 70 1@ N [ pEilk -l L1 zofh ( )

FIHIZOWCRLE) S

i




